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02 0000000O0OOO0OO0O0O0O0ooOoO0

01 000000000000000000
0000 [V] 0000 [V] 0000000 [V)

gooo [V] oooo [mV] goooooo [V} 0 0.0005 _0.00005
-0.1312 1.5 -0.13 0.0053 0.0006 0.00524
-0.1687 1.4 -0.17 0.0105 0.0005 0.01045
-0.973 L5 -0.97 0.0212 0.0000 0.0212

-2.07 1.6 -2.07 0.0303 -0.0005 0.03035
-4.06 1.8 -4.06 0.0397 -0.0014 0.03984
-6.05 1.9 -6.05 0.0500 -0.0028 0.05028
-9.98 2.0 -9.98 0.0603 -0.0046 0.06076
-15.02 2.2 -15.0 0.0703 -0.0074 0.07104
-19.94 2.2 -19.9 0.0798 -0.0112 0.08092
-25.1 2.3 -25.1 0.0898 -0.0171 0.09151
-29.9 2.4 -29.9 0.0999 -0.0244 0.10234
-34.9 2.4 -34.9 0.1503 -0.119 0.1622
-40.0 2.5 -40.0 0.200 -0.333 0.2333
-45.0 2.5 -45.0 0.300 -1.005 0.4005
-49.9 2.6 -49.9 0.400 -1.815 0.5815
-55.1 2.6 -55.1 0.499 267 0.766
-60.0 2.7 -60.0 0.549 -3.12 0.861
-64.9 2.7 -64.9 0.599 3.57 0.956
-70.0 2.8 -70.0 0.649 -4.02 1.051
-75.1 2.8 -75.1 0.699 4.48 1.147
-80.0 2.8 -80.0 0.749 -4.94 1.243
-85.0 2.8 -85.0 0.799 -5.41 1.340
-90.0 2.9 -90.0 0.848 5.87 1.435
-95.1 2.9 -95.1 0.898 -6.34 1.532
-99.9 2.9 -99.9 0.948 -6.81 1.629
-110.0 3.0 -110.0 0.998 7.29 1.727
-120.1 3.0 -120.1 1.008 8.23 1.921
~130.0 3.1 -130.0 1108 919 2117
1.297 -10.14 2.311
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03 ObO0000oooooooooooo

0000 [V] 00000 kHZ 0000 [mV] 0000 [mV]

0.1075 10.00 64.0 2290
0.505 9.988 64.0 1330
0.98 10.00 67.2 1040
1.504 10.01 67.2 880
2.04 9.997 67.2 785.2
2.48 10.00 66.8 720.6
2.95 9.997 67.2 673.4
4 9.997 67.2 589
5.01 9.999 67.2 484
5.98 10.00 67.2 396
7.01 10.00 66.8 372
7.98 10.00 66.8 348
9.01 10.00 66.8 328
9.98 9.996 66.8 312
15.02 10.01 66.8 262
20 10.01 66.8 232
25.1 10.00 66.8 212
30.1 10.00 66.8 204
35.1 10.00 67.2 198
40 9.998 66.8 196
49.9 9.994 66.8 191
60 9.999 67.2 189
70 9.997 67.2 188
80 9.993 66.8 187
90 10.01 67.2 186
100 10.01 67.2 184
110.1 10.02 66.8 184
120 9.994 67.2 183
130 10.03 66.8 184
140.1 10.01 67.2 182
150 10.00 67.2 182
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0000000 [uw A] 0000 [pF] 000 [kQ em] 00000 Nofem™3] 00 dfu m]

2.29 569.5 1.43 3.10E+12 18.4

1.33 331.1 2.84 1.56E+12 31.7

1.04 246.3 3.68 1.21E+12 42.6
0.88 208.2 3.92 1.13E+12 50.4
0.7852 186.0 3.96 1.12E+12 56.4
0.7206 171.7 4.00 1.11E+12 61.2
0.6734 159.5 4.04 1.10E+12 65.8
0.589 139.5 4.10 1.08E+12 75.2
0.484 114.6 5.00 8.88E+11 91.6
0.396 93.8 6.38 6.96E+11 112.0
0.372 88.6 6.19 7.17E+11 118.5
0.348 82.9 6.28 7.06E+11 126.6
0.328 78.1 6.32 7.02E+11 134.4
0.312 74.4 6.35 6.99E+11 141.2
0.262 62.4 6.13 7.24E+11 168.4
0.232 55.2 5.94 747E+11 190.1
0.212 50.5 5.70 7.79E+11 207.9
0.204 48.6 5.15 8.61E+411 216.0
0.198 46.9 4.76 9.32E+11 223.9
0.196 46.7 4.22 1.05E+12 224.8
0.191 45.5 3.57 1.24E+12 230.6
0.189 44.8 3.08 1.44E+12 234.5
0.188 44.5 2.67 1.66E+12 235.7
0.187 44.6 2.34 1.90E+12 235.5
0.186 44.0 2.13 2.08E+12 238.6
0.184 43.5 1.96 2.26E412 241.2
0.184 43.8 1.77 2.51E+12 240.0
0.183 43.4 1.65 2.69E+412 242.1
0.184 43.7 1.50 2.96E+12 240.2
0.182 43.1 1.44 3.09E+12 243.8
0.182 43.1 1.34 3.31E+12 243.6
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